  Maths Year 4 Weekly Plan: Summer 							Week 2: Mental and written subtraction
	 Objectives: Use compact decomposition to subtract three-digit numbers; use expanded then compact decomposition to subtract pairs of four-digit numbers; use compact decomposition to subtract three- and four-digit numbers from four-digit numbers; use counting up (Frog) to subtract pairs of four-digit numbers; choose a strategy to subtract pairs of four-digit numbers depending on the numbers involved.

	
	Starters
	Whole class teaching
	Guided group and independent paired/indiv practice activities
	Plenary

	Monday
	Subtraction facts
Chn work in pairs. Challenge them to write as many subtractions as they can where the first number is between 10 and 20, the number subtracted is between 1 and 10, and the answer is also between 1 and 10, e.g. 14 – 8 = 6. How many can they write in 4 minutes!?
	Revise compact decomposition of three-digit numbers
Write 543 – 357, 347 – 178 and 481 – 235 on the board. Which do you think will have the biggest answer and which will have the smallest answer? Talk to your partner and agree an order without working out the 3 answers. Ask chn how they did this. Ask how each can be rounded to the nearest 100 to give an approximation, in which case the 1st 2 would have the same approximation. Discuss how each could be rounded to the nearest 10, then knowledge of subtracting pairs of 2-digit numbers be used to find more accurate approximations. Ask chn to work in pairs to do this. Remind chn how to use compact decomposition to subtract 357 from 543. Ask chn to work out the exact answer to the other two subtractions on their w/bs and compare them with the approximations. Model expanded decomposition as some chn may prefer to use this.
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	Most children/Harder
Chn shuffle a pack of 1–9 cards and draw out 6 cards. Use these to make 3 different subtractions, e.g. use cards 1, 2, 4, 6, 7 and 9 to make 921 – 467, 612 – 497 and 764 – 129. They write them in order from the smallest to greatest answers. They then use compact decomposition to find the exact answer and compare them with their order. Rpt. 
	Chn work in pairs to roll a dice three times to generate a 3-digit number, rpt and write a subtraction taking the smaller from the larger on a Post-it note™. They decide where to place it on the f/c under headings ‘Frog’ and ‘Written method’.

	
	
	
	GUIDED: Easier
Support a group whose work showed they are unsure about the written method. Shuffle a pack of 1–9 cards and take 6. Chn discuss in pairs which pair of 3-digit numbers with these digits would give the largest answer. Record suggestions. Let’s try them out! Model using expanded and compact decomposition alongside each other. Shuffle the cards and rpt, but chn work in pairs to use them to make the subtraction that will have the biggest answer, then choose to use expanded or compact layout. Which pair had the biggest answer? They win that round. Rpt twice more. Write 504 – 499, 600 – 499, 543 – 264, 783 – 201 on the flipchart. Chn discuss how they would work them out. Draw out how they should look out for subtractions which they can do in their heads.
	

	Tuesday
	Subtraction facts
Ask chn to choose 5 multiples of 10 between 10 and 100 to write on their w/bs. Call out the following questions: 130 – 70, 120 – 80, 170 – 90, 150 – 60, 110 – 80, 140 – 70, 110 – 90, 130 – 80. Chn ring the answers on their w/bs. The first to ring all 5 wins. Rpt. 
	Expanded decomposition of four-digit numbers (one move)
Work through the steps in expanded decomposition in 5927 – 3456:
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Point out that this is really no harder than subtracting three-digit numbers; there are just more subtractions to do along the way. In this subtraction we need to move a 100 to the 10s. Work with a partner to come up with a subtraction where we would need to move a 10 to the 1s but don’t need to move anything else. Take feedback, and use expanded decomposition to try out one or two suggestions. Now come up with a subtraction where we need to move a 1000 to the 100s, e.g. 3267 – 1633. Use expanded decomposition to check.
	Most children
Chn practise using expanded decomposition to subtract pairs of 4-digit numbers (see resources). 
GUIDED: Medium 
Work with a group who seemed confident with expanded method and model using compact subtraction to work out several of the subtractions on the resource sheet. Ask them to choose either compact or expanded decomposition to work out the rest. 
	How could we check our answers? Ask chn to choose three of their subtractions to check using compact addition. 

	
	
	
	Easier
Chn practise subtracting 3-digit nos (see resources). They choose either compact or expanded. 
	Harder
Challenge chn to try using compact subtraction to answer the questions without being shown how.
	




	

	Starters
	Whole class teaching
	Guided group and independent paired/indiv practice activities
	Plenary

	Wednesday
	Complements to 100
Highlight a number on Splat Square at http://www.primarygames.co.uk/pg2/splat/splatsq100.html. Chn write on their w/bs the number that needs to be added to make 100. Challenge them to do this as quickly as they can! Rpt using different colours. Watch out for chn who give answers 10 too many, and get them to work out how many to the end of the row, and then to 100. 
	Use expanded then compact decomposition to subtract pairs of four-digit numbers (2 moves)
A plane is flying at 9240 metres above sea-level. It descends 1425 metres. Show chn how to use expanded decomposition to work out the new height, taking time to discuss how 1000 needs to be given to the 100s in order to subtract 400m as well as 10m moved in order to subtract 5m. This time we needed to do two moves. 
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It descends another 1425m. Work with a partner to work out its new height. Take feedback. Ask chn to subtract another 1425. Afterwards show chn how to use compact decomposition to work this out. Ask chn to rpt subtracting 1425m using both expanded and compact decomposition until the plane is below 3000 metres. Take feedback on which layout chn prefer.
	Whole class practice
Chn practise using expanded and compact decomposition to solve two subtractions then choose their favourite to answer as many questions as they can. 
Most children: Chn start at question 5. 
Harder: Chn start at question 8.
GUIDED: Easier
Show chn how to use expanded decomposition to solve the first subtraction, then ask them to have a go at the next. Ask a child to talk through what they did. Do the others agree? Ask them to have a go at the next four or so (these have one move). 
	Becky has saved some birthday money and job money. She has £54.75 and has decided to buy an MP3 player for £42.49. Show the rest of the class how to use expanded then compact decomposition to find how much money she has left.

	Thursday
	6 times table
Give each pair a set of 0–12 number cards. They take turns to shuffle them and then turn them over one at a time. The other person multiplies each number by 6. Can they get through the pack without any mistakes? Swap roles and repeat. 
	Use compact decomposition to subtract three- and four-digit numbers from four-digit numbers
Explain that Everest is the highest mountain in the world at 8848m above sea level. Hillary and Tenzing first reached the top in 1953, via what is known as the South Col route. Now many climbers have ascended Everest by the same route and there are five camps set up to help them. Display table of heights to descend from the summit to base camp (see resources). The section above 8000m is known as the ‘death zone’ because of the low temperatures leading to frostbite and frozen slippery snow, and the low level of oxygen (about a 1/3 of the amount at sea level), and so most climbers wear oxygen masks at this height. So once they have reached the summit, they don’t hang around to celebrate but try and descend as quickly as possible. Show chn how to use expanded, then compact decomposition to subtract 453 from 8848 to find the height of the ‘Balcony’. Emphasise the importance of aligning the digits to the right. What if the balcony was 952 metres below? Ask chn to use compact decomposition to work this out. Rpt, this time subtracting 985m from 8848m.
	Most children/Harder
Chn work out the heights of each camp to complete the table (see resources). They should check each subtraction using addition. If they do not reach 5380m, they should find where the mistake is! 
	Ask a child from each group to describe what they did and compare their tables. Point out that One group was finding the difference in height between the camps whereas other chn had the distances to descend but had to work out the camp heights. Find corresponding figures in each table.

	
	
	
	GUIDED: Easier
Show chn how we can use Frog to find the difference in height between Base Camp and Camp 1. Draw a line from 5380 to 6083. Where should frog jump to first? Draw and label a mark at 5400. How many metres from 5380m to 5400m? Draw jump and label it 20. Where should Frog jump to next? He can jump to the next 1000. Draw a jump of 600 from 5400 to 6000. And where should Frog go next? Draw a jump to 6083. What do we need to do next? Add Frog’s jumps. Chn to work in pairs to find the difference between the height above sea level of Camp 1 and Camp 2, Camp 2 and Camp 3, Camp 3 and Camp 4, Camp 4 and the Balcony, the Balcony and the summit (see resources). Make sure they remember that Frog jumps to the next 10, 100 or 1000 but doesn’t need to jump to EVERY 10, 100 or 1000!
	




	
	Starters
	Whole class teaching
	Guided group and independent paired/indiv practice activities
	Plenary

	Friday
	7 times table
Quickly chant the 7 times table: one 7 is 7, two 7s are 14, three 7s are 21… twelve 7s are 74. Say a number from 0 to 12 as you throw a bean bag to child. They multiply the number you say by 7 and throw it back. 
	Use counting up (Frog) to subtract pairs of numbers which are close to multiples of 1000, nos from multiples of 1000, or when the larger number has zeroes
Write 3000 – 2674 on the board. Model using compact decomposition to find the answer, acting out making quite an ordeal of it. 0 subtract 4, I need to move a 10, oh I haven’t got any, I’ll have to move a 100 so I can then move a 10, oh no, no 100s either. I move a 1000, leaving 2000, now I’ve got ten 100s, so now I move a 10, leaving nine 100s. Phew, now I can get on with it. Gosh, that took ages. Can anyone see better way of working out this subtraction? Draw out using Frog. Draft a line from 2674 to 3000. Where could Frog hop to first? Discuss a little hop from 2674 to 2700 or one jump from 2674 to 2700. And now? So what’s the answer? That was MUCH quicker! Write 4002 – 3978 on the board. Ask chn to discuss in pairs what would happen if they used column subtraction (decomposition) to work this one out. Take feedback and agree that there would need to be three moves again. Explain that if the larger number has two or three zeroes, we are probably better off using Frog. Draft a line from 3978 to 4002 and work this out together. Write 5324 – 5297, 6542 – 4362, 9874 – 2344, 6000 – 5873, 4012 – 3679 and 6124 – 5968 on the board. Ask chn to discuss in pairs which of these they would choose to work out using Frog. Ask them to share their reason why. Choose a few to model. Which might you work out using column subtraction? Discuss how 9874 – 2344 would be really easy, and 6542 – 4362 would probably be easier to work out using this written method too.
	Most children
Display a mix of subtractions (see resources). Chn choose at least 6 to work out using Frog and at least 2 using decomposition. 
Easier: Chn choose at least 6 to work out using Frog. 
	Ask chn who were working on the subtractions on the board to say which they chose to work out using Frog and why.

	
	
	
	GUIDED: Harder
Cut up a sheet of mixed subtractions (see resources). Say that some of these are probably best solved using column subtraction and some using Frog, but some might be best solved in another way. Take the subtraction 4536 – 2003 and ask chn how they might solve this one. Draw out that we could count back 2000, then 3. Label 3 sets on the table: Column subtraction; Frog; Count back. Take each subtraction and ask children to discuss how they would solve it. Stress that it is fine to differ as some of us will favour one strategy over another, e.g. some may prefer to use Frog to work out 7234 – 5999, but some may prefer to subtract 6000, then add 1. Where differences occur, take a vote to place the subtraction in a set. Ask chn to choose at least 2 from each set to solve. 
	





Resources
· 0–9 dice 
· Post-it notes™
· Day 2: written subtraction activity sheets for Most/Harder and Easier groups (see resources)
· Splat Square at http://www.primarygames.co.uk/pg2/splat/splatsq100.html 
· Day 3: Whole class practice (see resources)
· 0–12 number cards
· Day 4: table of amounts to descend from the Everest summit to base camp for Most children and Harder group (see resources)
· Day 4: table of heights of camps on Everest for Easier group (see resources)
· Bean bag
· Day 5: sheet of subtractions to display on the board (see resources)
· Day 5: choosing a strategy activity sheet for harder group (see resources)
· Abacus Year 4 Textbooks 2 and 3

Abacus Textbook Pages for Alternative/Additional Practice  
[bookmark: _GoBack]
	Day 
	Group
	Page

	Monday
	Easier
Most children/Harder
	Textbook 2, page 14
Textbook 2, page 17

	Tuesday
	Most children
	Textbook 2, page 79

	Wednesday
	Easier
Most children
Harder 
	Textbook 2, page 79 or 80
Textbook 2, page 82
Textbook 2, page 83

	Thursday
	Easier/Most children
Harder
	Textbook 3, page 62 
Textbook 3, page 64

	Friday
	Easier
Most children
Harder 
	Textbook 3, page 49
Textbook 3, page 50
Textbook 3, page 63



The links to the websites and the contents of the web pages associated with such links specified on this list (hereafter collectively referred to as the ‘Links’) have been checked by Hamilton Trust (being the operating name of the registered charity, William Rowan Hamilton Trust) and to the best of Hamilton Trust’s knowledge, are correct and accurate at the time of publication. Notwithstanding the foregoing or any other terms and conditions on the Hamilton Trust website, you acknowledge that Hamilton Trust has no control over such Links and indeed, the owners of such Links may have removed such Links, changed such Links and/or contents associated with such Links. Therefore, it is your sole responsibility to verify any of the Links which you wish you use. Hamilton Trust excludes all responsibility and liability for any loss or damage arising from the use of any Links.

Outcomes

	Outcomes for most children

	Monday
	Tuesday
	Wednesday
	Thursday
	Friday

	1. Use compact decomposition to subtract pairs of three-digit numbers.











	1. Use expanded decomposition to subtract pairs of four-digit numbers needing one move.
	1. Use expanded or compact decomposition to subtract pairs of four-digit numbers needing two moves.
	1. Use compact decomposition to subtract three- and four-digit numbers from four-digit numbers.
	1. Use counting up (Frog) to find the difference between near four-digit numbers or where the first number has 2 or more zeroes.
2. Choose to use decomposition or counting up (Frog).

	Default (outcomes for children not on statements but not able to reach the outcomes for most children)

	1. Use expanded decomposition to subtract pairs of three-digit numbers. 







	1. Use expanded or compact decomposition to subtract pairs of three-digit numbers.
	1. Use expanded decomposition to subtract pairs of four-digit numbers needing one move.
	1. Use counting up (Frog) to find the difference between near four-digit numbers.
	1. Use counting up (Frog) to find the difference between near four-digit numbers or where the first number has 2 or more zeroes.
2. Identify subtractions where it might be easier to use decomposition or counting up (Frog).


 

Only record names of children who struggled or exceeded these outcomes
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